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BIDMAS- Order of operations
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1 can solve expressions using the order of operations.

128 an 6 @92 nEe)e7-
2 (#+10)+5= 7 8x346- 2 25-mx2e

3 (Br9)ren 8 3%(05-9)- B Eemess

4 anbotan 9 6-(5+12) . 9+(10-7)=

5 18+(4+5)= 10 (+21)+5= 15. 26-3%7=
Complte these calculations by filing in the missing number.

1ax[J-2s-23 w59 ]2 . (e-2-3

2. (26-10)+[_J=4

3. 60=5x3+[ )

5. 9x(2-[_J=63

8 8+ (66-[_|)=86

6. 45=(5+( x5

9. 6= Jem-a





image2.png
Put brackets in the following to make the answers correct.

1 6x7-4x8=10

2.8x9-5-6=26

3. 24-17x8-16=40

b trbxb-32=6

5 9x7-6x3=27

6

7

8.

9

10.

8x7-4sb=4

9+23-5x5=7

5em+7-324

Te6x12-7237

15+9+6-4=0




